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2H13H 2A13H 2A13H 2H13H 2A13H 2A13H 2A13H 2A13H 2A13H 2A13H 2A13H

KiE (C) 12.0 12.0 12.0 11.0 11.0 11.0 10.0 11.0 11.0 11.0 12.0

AR (°C) 11.8 10.5 9.0 11.4 9.4 11.2 10.5 11.5 11.0 7.5 10.0
1 —fHE (fH/me) 0 0 0 0 0 0 0 0 0 0 0 100{8/mlEA F
2 NI Ak AR AR Ak AR Ak AR AR kg AR Ak T AR
38 | (k1A (mg/0) 4.8 4.8 4.8 4.8 7.7 5.0 4.1 3.2 3.5 3.3 3.0 200mg/ 084 T
46 ﬁ%@%gﬁi%) <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 0.4 <0.3 <0.3 0.3 <0.3 3me/ 0BT
47 | pHIfiE 7.7 7.7 7.7 7.1 7.1 6.6 7.2 7.5 7.7 6.8 8.4 5.850 1865 F
48 | mk FEIRL JEaL Rl L JEeL L JEaL JEL HHERL JEeL L BRI,
49 | BX Bl BHERL BHERL HEL BHERL Bl BHERL BHERL Bl BHERL Bl RichRNIE
50 | BE () <€0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.9 <0.5 <0.5 <0.5 <0.5 SIELLT
51 | W& (%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 1.6 <0.1 <0.1 <0.1 <0.1 2PELLT

PR (mg/0) 0.3 0.3 0.3 0.2 0.3 0.3 0.2 0.2 0.2 0.2 0.3 0.1mg/0LA I
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